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L. Source for ruling that noa is brought nxkmva
a.nos € >mpm source for noa being brought nxkmva
i. gy 1 from v. 1, only individual is deferred to »w nog; M1y performs RNV NYRI NOS
1.Challenge (5”aw7): perhaps inverse — only individual is deferred and 112y does neither
ii. 57w fromv. 2, all 3 types of mrnv are listed; sometimes the other 2 are sent and not nn »kNYV (MRMV R1N NOY)
1.Challenge (»an): perhaps read that only n'»1¥n are sent out; but 1:0 n’noa rules that Py7¥m par don’t eat
iii. 7ax:v.1—we% 8nv >specifically nn 'RnL create NRMOV1 RN Noa (because all B8NV may bring W NoY)
IL. moYn related to wrno MW
a.x7on ’1. no culpability for ymxn who leaves his “exile-station” — b/c it is reparable through an nwy (v. 4)
i. Challenge: Xn»»2 rules that ym¥n and ar who leave their respective “exile-stations” get mpon
1.Explanation: nn Xnv — even the nn itself — may be in 1% mnn (=n>an 7n) from v. 5 (901 MNXY w/nwn)
ii. Answer: this is a dispute of nXin (supporting 8n>»»11 —no mpn for violating exile-station due to repair via nwy)
1. 7777 /7. infers different levels of exile from onrnn (v. 3)
2. v": infers different levels of exile from detailed listing of y11¥, then a1, then w215 XnY (NN XNV would suffice)
a) /777 1. the detailed list teaches that if a p”3, e.g. comes in during Nkna Ran noa — they’re not culpable
i. Only: when all groups are exiled is the prohibition in full force
b) ar>np &pv. kMY comes from his body
i. Challenge: nn Xnv >ar — only ™ requires NXT
ii. Block: w919 ®nv 93 includes y7w ®nv (<ar; as above)
1.Challenge: Y7 >21 — as NRMV obtains even if touched y7v inadvertently
2. Answer: ar is ®nvn inadvertently
C)Y1yp>ar requires NY9 N9, prohibition of marital relations
i. Challenge: 21 >y11¥n, as he defiles 2wim 25vn and n”>
ii. Block: at 93 includes p”va — who doesn’t have those stringencies
1.Challenge: "p Yva >y1xn, as the smallest amount generates NkMY
2. Answer: there is a minimum amount for »p as well, per jn1 "3
d) yry 52 anticipates parallel rhetoric: wa1> 8nv 521 ar 93
III. Source for sending »p Y1 out of 2 Mnn (=11) - v. 6
a.Nr7772: quote from Rn»7a above (ar:vp Hva)
i. Support: from statement by jany "1
ii. Challenge: ®:n 021 (in box) — equation of *p YYa::p7w YIn
1. Answer: that is for purpose of mann (only out of ny»aw ninNn)
2.Rejection: the equation is for nkmv (279 NrMV)
a) Challenge: that's explicit in the text
b) Defense: both are xnon inadvertently
i. Challenge: 2" clause in MWN equates NTI HYA:NN RNV
1.Must be: for the ninn (nyaw nrm is explicityly written for both) 1t clause is also for nann
2.Rejection: each is separate (1t for nkmv, 27 for mann)
c)Challenge: »1p YY1 <nn RNv
i. Fix: »p Hv3, even though less stringent than nn ®nv, goes out further to YR1w’ ninn with orar
ii. Support: from v. 6 —"p Yya leaves mnn (7’9w) and cannot come into Mmnn (7”9)
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